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8. Factorise x°* — 27
DiFfesence of & Cubes

(x-3) &%+ 3x +9)

9. If p(x — g)?> + r = 2x2 — 12x + 5 for all values of x, find the values of p, g and r.
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10. Solve the simultaneous equations() 3x + Sy — z = —3
® 2x +y — 3z = —9
> x + 3v + 2z = 7
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11. Simplify (b + 1) — (b — 1)3.
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1Z. Find the rule for each of the following quadratic patterns.
> 3.12.27.48,75 ...
(ii) 5,20,45,80,125 ...
(ii1) 0.5.2.4.5,8,12.5 ...
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12. Find the rule for each of the following quadratic patterns.
(i) 3.12,27.48.75 ...
ii)/ 5,20,45,80,125 ...
(iii) 0.5.2.4.5.8,12.5 ...
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12. Find the rule for each of the following quadratic patterns.
(i) 3.12,27.48.75 ...

(i) 5.20,45,80.125 ...
(iii)) 0.5.2.4.5.8.12.5 ...
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13. Find the rule for the pattern @12, 20. 30, 42 using first and second differences.
Hence find the 100th term of this pattern.
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Three times the width of a certain rectangle exceeds twice the length by 3 cm.

Four times the length is 12 cm more than its perimeter.
Find the dimensions of the rectangle.

W

L
3w-2L-=3

Powinese = 2L+

Ui —pLran) =12
2L-20 =17

it
the object distance and v cm is the image distance to the mirror

The magnification in the mirror is given by m =

(i) Find r in terms of « and v.
(ii) Find s in terms of v and « only.
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The formula for a spherical mirror of radius r cm is given by 1,
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